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QUESTION 1

When executing the following command: execute function sysadmin task("table compress", "customer") what will
happen to the customer table? 

A. Only newly added rows will be compressed. 

B. Only existing data will be compressed, new data will remain uncompressed. 

C. Row data and partition blobs will be compressed and any free table space will be released. 

D. Row data and partition blobs will be compressed and the space allocated to the table will remain. 

Correct Answer: C 

 

QUESTION 2

Which threshold setting applies when configuring automatic memory management? 

A. SHMTOTAL 

B. BUFFERPOOL 

C. SHMVIRTSIZE 

D. DS_TOTAL_MEMORY 

Correct Answer: A 

 

QUESTION 3

Which option is available through ifx_grid_connect()? 

A. Rename a replicated database. 

B. Enable use of TimeSeries columns in tables. 

C. Enable automatic creation of templates in a grid. 

D. Defer propagation of DDL statements to other servers in the grid. 

Correct Answer: D 

 

QUESTION 4

To potentially reduce table extent interleaving, an Informix administrator would execute which storage optimization
operation? 

A. Shrink 
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B. Repack 

C. Compress 

D. Defragment 

Correct Answer: D 

 

QUESTION 5

Given an OLTP environment with a very large table, which configuration parameter can be set to allocate more memory
for sorting when building an index on the large table? 

A. DBUPSPACE 

B. DS_POOLSIZE 

C. VP_MEMORY_CACHE_KB 

D. DS_NONPDQ_QUERY_MEM 

Correct Answer: D 
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